M NES
No. = Ely MEz EjEE SHoA = gt HMEE EjE T e
1 Bxgs+4 Bxg+ 480,586,600 504,480,000 A 23,893,400 AHEH] Ol ZAH| 321,925,000 350,980,000 A 29,055,000
2 =g+ ZAF+Y 38,690,150 3,403,644 | w35,286,506 AEH] A Z 2| 3,900,000 3,100,000 w 800,000
3 | =E50de | =EE0/EE 17,712,850 20,576,356 A 2,863,506 AR = ZH| 17,720,000 17,340,000 ¥ 380,000
4 T2 ¢ AEZ= | Al H| 8,800,000 11,290,000 A 2,490,000
5 0 0 0 At H| 29H| 1,852,000 1,320,000 ¥ 532,000
7 0 0 0 AbRIH| AbRIH| 177,631,000 144,430,000 | w33,201,000
M 2HA 536,989,600 528,460,000 ¥38,529,600 Nz 2HA 531,828,000 528,460,000 A3,368,000
X Mg
- BXxgsY  ®WHE OfH| A5161,600% SU0|F= QHH|l 25% Q4= Qlst 24
- 2FY - MAL CHH| A35286506% ZUO|RE MEXZ LAIH AMGX|HH(F=FEE2u3|, X|o200|M, MEAREXSS2a32 UZF)E EHESHK
A7 M=
xME

- QA - MEE CHH| A12,786,2708 SAUO|7= QIH| 25% Q&2 Qlgt ¢

- R MEE XF ME CHH] A1,062,0208 5

- 29| : MEE CfH| w380,0000& ZH

- A|dH| AT OfH] HAEYU0E Q22 Qs w2,490,0008 ZY

- AMgH[-2 9| - MHX CHH| A532,000% &<

- ArEH[-ARRH] - SO HX|IZHE ZRE2LHE QY S5H|Qt ZHMEZX|AALH| o4 O|2HE2 2 w33,201,0008 2
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